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1. (20 points) Find the exact solution of the initial value problem. Indicate the interval of exis-
tence. —
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2 (20 points) Find the éolution of the initial value problem
L+ 82y +4ty = (1 +9)72, y(1)=0.
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3. (20 points) Find the mtegratlhg factor to make the following equation into an exact equation.
Then find the general solution. (If you remember the integrating factor, you can use it directly.)

ry ,; (z? —ydz + (1 + z?y?)zdy = 0.
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4. (20 points) Suppose that z is a solution to the initial value problem

7 ;‘:X»élf-:lt 2 NE ;” z(0) = 1.

&
\_Show that. z(t) > t2 for all t for which z is defined.
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‘Math 33B :
5. (20 points) Find the general solution for the following differential equation.
4/ +4/ +y=0.
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